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UP Police Constable 18 Feb 2024 1st Shift

Freforea i & @ a1 I I, R 2
o s iy e ) T 7 g G € ?

Which of the following diagrams best
indicate the relation between

Intelligence, Anxiety and Strength ?

(A) (B) OOO

EAF2x6-12+4+2=7

Solve :2x6—12+4+2="7

(A) 12 (B) 10
(©) 11

(D) 9
S, A& w1 8 R, C ¥ @ 8, Al
vasels, cﬁaﬁa% aﬁmﬁ%w}

AT DA R ?

'S is taller than A and R is taller than C

but shorter than V. S is shorter than C, so
who is the tallest among them ?

A) Vv B) C

(C) R ;. (D) S

frfRad SR T A Ei 3:ﬁ'{ #ﬁ
R QA T IR ;-
Study the following figure and' answer

the question given below :
[]—> fata wim / Married Peoplc

O — T qiEm d T e wm /

Pr;ople who live in joint family

. /\ —> = fowr / School teachers
2 & 78R A 3 S B gt S R S
@mﬂﬁwﬁ%éﬁﬂaﬁﬁmﬁa%
3R 7 & freres € 2

. By which letter, the people who live in

joint family but are neither married nor
teachers are represented ?

(A) S (B) . R.

DT

I AE

ﬁ'ﬁmﬁ ELE ﬁ, Th Wﬁ!ﬂ TRIT%,
TG WG, TR A= e o e E, foi
T T3 T 915, o A& T ITAN Hlh

I T T @ | 8 I, 1 |

In the following question, a word hag
been given,’ followed by four other
words, one of which cannot be formeq
using the letters of the given word. Find

that word.

APPLICATION

(A) POLONIA (B) POINT
(C) OPTICAL (D) ANTIC

T ST TR 3 ST Y ST 6 4,
<reré 4 et o Semd 1 Fh R 1 4 Fh
1 et HT TN S Bersh et U1 W MCE |
6 Tt x 1 ) 71T A BB AR 1
T e g | 6 Tt x 4 Tt AT AT T B

RE AW TCE | =i B 1 3R 350 a1

6 TS T (6 9 YT &), 1 T g I

4 SR e (4 ¥t o @) # R

TE |
wﬁmaﬁtamaﬁa‘-ﬁaﬁwﬁm

I RETERE R R Ul

A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and 1 cm height.
Two faces measuring 4 cm x 1 cm are
coloured in black. Two- faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 cm x 4 cm are
coloured in gréen. The block is divided
into 6 equal cubes of side 1 cm (from
6 cm side), 4 equal cubes of side 1 cm

~ (from 4 cm side).

How many' cubes will remain if the

- cubes having black and green coloured
~are removed ?

(A) 16 @B 8 E‘#
(D) 4

e eme o —ne e A e A A R LA A TN S BT
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T Tl IWE T e A @)
e % T w6 #e # oA w0 A

L, PeIATERME

2. .ﬁ37T29“W@HT%|

3. @ﬂﬁ%qﬁaﬁ'ﬁwm%j

4. ?ﬁmai'q?{aiaimwaﬁm%
m,sﬂﬁ:ﬁﬁmwm@;mﬁﬁ
e §fe F g SR sl e
ﬁwﬁam?mgﬁmwmil

A p’uzzlg enthusiast - is’ ‘tryin'g to

remember a code to unlock a mysterious

box. He recalls the following details :

1. The code starts with 3.

2. * The code ends with_72§.

3. The second digit is twice the first
digit. :

4 The third digit is half of the second
digit. et ’

Now, con_sidering these ,conditions, the

enthusiast has narrowed down four

poteritial codes for the mysterious boX.

Find fhe,suitable orle. S N
- (B) 324729,

Join WietsApp CH
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8.

() follow.
anngDPJH Qﬂ};é Ff’c’l‘SBS,gﬁ hﬁollgw;» R
Rehlcbosyoat nf\vwxr.;

1 e of e 3k Iwh A 1 et I

Waﬁwﬁmm'nmm
F & 8 ot At Y we e R, R et
37 2 5 3 @ e |/A e # §
ST & Sfia deg A W aifehd w9 A
H/A /8 |

YA
[ iy 2R e Sidard, fE |

B
1 ST qednie e g
I R | e

1L ﬁﬁaﬁsaﬂtﬁm&;mw

it

T3 1 3R T € 11 S FAR |
asaaﬁsasé‘naqgamm%l

(C) 1 3R 11 G STTE A R |

(D) St Frepd [ FTET F@R |

In the question below three statements

followed by two conclusions numbered I
and 1I are given. You have to assume

(A)
(B)

~ everything in the statements to be true,

then consider the two -conclusions
together and decide which of them
logically follows beyond 2 reasonable -

“doubt from the information given in the

statements.
Statements : |
Rl ‘Rabindranath Tagore wrote many
poems. '
11, Every. poet  has asethetic
- knowledge.
[II. Aesthetic is a part of axiological
© study. ;
Conclusions : .
L. Rabindranath Tagore did different
axiological study. -
[I. He followed the base of logic and
~ ethics.
(A) Neither I nor II follows.
(B) Only conclusion II follows.
Both I and II follow.

(X

T.4
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9. war e i sy (X) A fg MY gwHS A
(1), 2), (3) 3R (4) & @ B & IARPfA
TS ST HHA R | |
Find out which of the figures (1), (2), (3)

and (4) can be formed from the pieces
given in figure (X).

rqb

X) m @ 3 @
A @ B) @
© 3 D @)
10. =R oot & § gar ol 6 wReRft ¥fie
g YT W Ae w e e e 3 |
Find out from amongst the four

alternatives as to how the pattern woul.d
appear when the transparent sheet is

folded at the dotted line. . L
~Al AT ] A o]
S L] B e
X) (M 2 3 @
A) 4 B) ()

O 6 D @

1. AB®WERIC,DF R IEBH

ARIAIRD WS E | E,C & 559 K

qafag ?
(A) gl ®) wmft
(C) weftsht (D) - 55

A is B’s brother. C is D’s father. E is B’s
mother. A and D are brothers. How is E
related to C ? }
(A) Wife (B) Sister-in-law
(C) Niece (D) Sister

12. =% fawew gt S Ry o waem 6 oo
B A 1t frerar-gemar & |

Choose the alternative which closely
resembles the mirror image of the given
combination.

REASONING

(A) oVIIVIOS AT (B) oVIViO2AdSI
(C) sIIAROUIMD (D) MEV20UIUD

INVYULNTSVE PINVICIATIY S FONYICLNTVL PENPIRTTAT

Gl Q5% e

-

13.

14.

15.

16.

VR CONPOVENTIOVL EONPOUEA TSV

agmgﬁsﬁm%ﬁa%'l

Choose the figure which is different from

the rest.

DR[S9

2 (3) 4 (O5)
ww L ®
) () D) @)
s S 7 aRE oo 99 € | A S A |
<2 € | <@ 4 e &, R a
faar T & | 9 1 G IHRAT T THE TG Y
T fomar ST B | e H foham & 2

There are twelve dozen of apples in a
basket. Two dozen are added later. Ten
apples got spoilt and are removed. The .

" remaining are transferred equally into two

baskets. How many are there in each ?
(A) 168 (B) 89
(C) 158 } D) 79

3 1 TH AHA § TS 30 I F Gy
Toh @S I &1 3 | e Tedieh 4 T g
1l ¥ § 3 1 fosh T 98 7 S g,
3R Tt F 12 3w fht 9 T €, @

IR fope I E 2
A crate of mangoes contains one bruised
“mango for every 30 mangoes in the crate.
“If 3 out of every 4 bruised mangoes are

considered unsalable, and there are 12
unsalable mangoes in the crate, then how
many mangoes are there in the crate ?
(A) 480 (B) 320

© 420 « (D) 240

| frfRed § @ 9 T freer 99 R

STec] <hT Geieh 39 BRI ?

S LS 2.9 3. 3@R 4. fyam

5. foram

Which -of the following option would be
meaningful order of the following words ?
1. Birth . 2. Death .3. Funeral

4. Marriage ' 5. Education

(A) 4,5:3,1,2 1 (B)1,5.4,2,3
© 2,3,4,5,1 (D) ks 35 4;.5,°2

TEAPILATITN CONMICZATINN SO LA T VR QA MIREA TV (AR e A ey
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| ﬁm%mft%%aaﬁﬁw%wﬁa%?
" (A) Hﬁmﬁmmwmﬂ -
(B) a1 3R

(©) v ¥ g afirER

(D) - & <t Teia 7 SRR

Accordmg to Indian Constitution,

Articles 14-18 deals with which of the
following rights ?

(A) Right to Constitutional Remedies
(B) Rightto Equalxty

(C) Right against Exploitation

(D) Rightto Freedom of Religion

. PrafRen 3 & o @ Ry <siadida i
feaw” & &9 § warr ST R 2 '

) 3lf@E=w (B) 173

(C). 257@=xx- (D) 16T

Which of the following days is celebrated

as “International Workers’ Day’* ?
A)- 3 15‘ December(B) 1% May
(C) 25%November (D) 16 August
; ﬁnﬁﬁﬁaﬁﬁéﬁwm mmﬁrﬁ%
gy
(A) 37!‘«'%1’%@3(3) e e
©) Ritwae D) Wi

Whlch of the followmg Acxd s present
in prnach B

.....

(C) Citric Atid ~ (D) Acetlc Acxd“ |

mm&mmaamﬁ
mmhmmmw

' m%o ;

(A) " deh Fea e
(B) hies ATeie &9 AR,
(C)  hiee ATeier .4, Hftaren
- (D) "t fam v

£ “Soldlerlng with Dignity” is the novel
written:on which of the followmg Indian

- Military Stalwart ?.

(A) PVC Capt. Vikram Batra % T
(B) ' Field Marshal Sam Manekshaw
(C) Field Marshal K.M.. Carlappa

(A) B

(A) Mysuru |
- (C) Ahmedabad (D) Bengaluru

laryanaJobs.in”

HIINCH 1 TG ferprar & Tl Anrgrehat
s % fog framm ot wemafes 2=
Rtierd wma 3 Fraferfea # & Ree womea
% 3iaTiel T & 2

(A)  TERTIET T

(B) TSI HTeT

(C) HIINE TTHEA! &1 HaTerd

(D) 3TaTH 3R IE ATt 1w
The responsibility of the regulatory and
administrative framework for corporates
in order to make them effective
contributors to national development
falls under which of the followmg
Ministry of India ?

(A) Ministry of Co- -operation

(B) Ministry of Planning

(C) Ministry of Corporate Affairs

(D) Ministry of Housing and Urban
‘Affairs

Wi ATEYE T (e i)
Frfafea i a wei R 2

(B) T

(C) IEHEETE - (D) TR

The. Physlcal Research Laboratory (Main
Campus) is. situated at which of the

following places ? :
(B) Pune

I T A n T TR T (SSieE) &
fora s TREFR? .

What is the contact number. for Women
Power Line (WPL) in Uttar Pradesh 2-

(A) 1044 (B) - 105

(C) 114 (D) 1090

‘m?vmgw s Prefefaa § q form
TSI HTRERR 2 —_

(A) T (B) ﬂfﬁwg

(C) Aich (D) Sfifem
“Mamallapuram Utsav” is a festival of
which of the following states ?

‘(A) " Gujarat- (B) Tamil Nadu

(D) CDS Bipin Rawat © Kamataka (D) Odisha
C RONPICTNTITR PENVSULATIVE s PORTATITY ST MOV T YR = N pr SNTU R AN ST YA RN PINI AT COAN BOVD A TR e T )
a k St e

GL-4 )
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freffea # & a9 @ FEA @y

25. Prfafea § @ i A1 =, FZ THR B (28,
s 1 Rt wafrdl & fafor < aremen wEe TE 8 ?
311 SRt o fore fema ST @ 2 (A) @A (B) Hmeeft
(A) =T (B) TS =qq C) ™M (D) wE
©) @ﬁwasaa (D) TR =T Which of the following crop is not ,
Which of the following expenditure ‘is kharif crop ?
incurred for purposes other than the (A) Soyabean  (B) GTO.Uﬂdet
creation of physical or financial assets of (C) Wheat (D) Maize
the central govemfnent? 50, frefefad § & N9 @ s W -
(A) Tax Expenditure . p 29
(B) Revenue Expenditure A T et il.a[ mee?
(C) Capital Expenditure (A) = TR FCUME
(D) Outcrossed Expenditure B) Hfe FeoTE
26. maﬁqﬁaaﬁtaﬁgmﬁ%mﬁmﬁ (©) iser duTE
- TG 2 2 (D) SETEATA AEE SeUTE -
@A) ; (B) SR Which of the following port is the largest
(ORI D) ©§ container port of India ?
According to ancient Jain and Buddhist (A) New Mangalore Port
texts, how many Mahajanapadas WCre. (B) KochiPort -
there ? : (C) Kandla Port
E‘é; IS?:))::teereln 8:3)% r'}::;elve D) Jawaharlal Nehru Port
7. P § & @ o m & foret & |30 FeRa 6 3 R v & o, e
| aﬁaimmég%aaﬁm%(wm Wmﬁa{ P2z ﬁmm
(A) m,(gmm) N | (A) aﬂﬁa"'-a':nlams'”
@) oo (g Ta-ee) | (B) =hii-<ha e
(C) THId (Ferrh Jferd TTIH) (C) e ATSIYd T AT STt Tt
(D) Tadl (gferd arefteren) | (D) SfETETeT ST THER
~_ Which of the following is the highest- - Mohandas Karamchand. Gandhi called
ranking Police Officer in the districts of off the Non-Co- operatlon Movement‘ In
Uttar Pradesh (except Commissionerate) ? 1922, d‘;e to which of the following
(A) DCP (Deputy Commlssmner of incident % -
Police) (A) Partition of Bengal EE
- (B) PSI (Police Sub Inspector) (B) C_hauri—Chaurg Incident
(C) ACP (Assistant Comm1ssmner of (C) Lala Lajpat Rai Lathi Charge
Police) - - Incident ' ]
| (D) SP (Supermtendent of Polxcé) - (D) Jallianwala Bagh Massacre
. GL-: PEDLATEV R AN POVINT v"VA"’"(\‘vd\("'NTSF' K CTN P \"\""‘C‘G@"ﬂﬂ’:gfﬁtvs “\V\V’?‘W’VANT\M“QL\\V'AK\\I\"\" A TIOVR COAPORNTATIY R GO pony, A‘
:f@;fk:vrmw}n:: SR p
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TG PR W A, W oaw g
frafeRea & @ frm i R R 0

(A) = (B) e

C) W™ (D) e R

The famous UNESCO site Bordeaux,
Port of Moon is situated in which of the

following country ?-
(A) China (B) Austria

~ (C) France (D) Costa Rica
IR YW H, YT Taaan GO QUG
(WEte =) frefeiad & @ fore wIm @
T R 2
A) W (B) wi-=
(© WmwEe (D) W

In Uttar ' Pradesh, the Government
Freedom Struggle Museum (Shaheed
Smarak) is established in which of the
following location ? ' |
(A) Meerut - (B) Chauri-Chaura
(C) Ganga Ghat - (D) Mathura

IR T 77 & & Bew & PMJAY %

3s.

36.

MY oM w13 (ILO) A &l 49 %
e frmam o @ @ w0 F fom
HTEwEF Far 3t waEl W e HiEa
FH & foT 2002 # @16t o % e fava
T 6 yoeTa 61 | TS T fwa aTet o
iy feag fre alle S T s 8 2
(A) 7 T (B) 1%

(C) 59w (D) 127

The International Labour Organization

- (ILO) launched the World Day against

Child Labour in 2002 to focus attention
on the global extent of child labour and
the action and efforts needed to eliminate
it. Each year on which date World Day
against Child Labour is observed ?

(A) 7™ August (B) 1%May

(C) 5" July (D) 12" June
frefafed © @ T Ty o = e
3R T3-S W AT IR i @
e TRt &1 stame & $ fow e em
I & &9 1 frge e man 2 2

(A) @I (B) IANTH

(C) drftams (D) TEgsi

Which of the following special force is

33 mandated as the -elite agile force to
: A respond to hijacking and similar security
W%ﬁ%ﬁ 202,3 q IR frg 2 situations on aircraft and airports ?
- (A) wEm (B) we (A) NIA (B) RPF
. C) CBI D) NSG
(C) fuam (D) FN =) )
Uttar Pradesh has recently 'bagged al; . é%a:%ég:; 2 o
awards in 2023 for its execution of Frrfefem .
PMIJAY in which sector-? (A) TSRS (SATH)
(A) Industries  (B) Healthcare (B) R
(C) Education (D) Agriculture (C) ™3
— ' (D) AR
e , 2011 % 313 o I T H "~ The Board of Revenue, Uttar Pradesh
Ty formauTa F=n g 2 was established in which of the
ool . . following districts ?

- What is the overal! sex-ratio of Uttgr (A) Allahabad (Prayagraj)
Pradesh State, acco,rc‘lmg to Census 2011 ? (B) Varanasi
(A) 982 (B) 892 (C) Meerut
(C). 912 (D) 812 (D) Lakhimpur

. X\’V"’.ﬁ'rﬂd SO PIVLATIVE AN POULANTIVL OO POVTATI VR CONPEVLANT VL 10N V:“.’? TSTVE SONPOULATIVL MO PEOWTATIFVA 075 U A TR QAN PO ATV SO v‘\G{N{‘SLZ

Bt ;
238t
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38, W€ e 2023 H, Wi ik e v 2 |42, Fiferfa # B fRA S 3 2024 & fieg
' ' 9 # ynfirer 81 A waR w fea 2
T AT NI g foror F wqr fora ¢ a8
(A) st (B) TR (A) T (B) #H
Q) AU (D) Wl (C) A (D) W
Rﬁgegtly .inthovember 2023, India ang!1 Which of the following country refused
which neighbouring coun articipate s in 202
?A .;oinst Military Ex%rcise “t?lllrsa Kirgn” # ch)\-’)on}rt:s BRICS gr?;g mRuss?J
ri Lanka (B) Myanmar : i
(C) Nepal (D) Maldives (C) Argentina (D) il
39, wr € &, wurmh 3 e 3 @ R (43, 2016 H A T AT S FRE AR g
(o9 VA @ 7¢ '31gd yra' $H1 1wl g Wﬂmmﬁwwm?
fws 2 Which denomil}atlor}s olftpurreqcy W}?s
TRER et ken out of circulation In the
(4) (B) Eiaemonetisation done in 2016 ?
(C) e (D) SRTUrE A) 100& 500 (B) :1000 & 500
I}(lecently, The Prime Minister ﬂagge? off gc; 1000 & 2000 (D) 2000 & 500
the new ‘Amrit Bharat' trains from A
which of the following railway station ? 44, I W H, WEH e 4
(A) Haridwar (B) New Delhi ferat?
(C) AYOdl:l}’a (D). Varar:aSJ A) @ (B) TEE
40. fr=fafes § @ frg T8 & =7 X i (C) TR (D)
TN gRI UG ueryee AR rﬁzrm In Uttar Pradesh, where is the Cyber
(TEtdft) At gEet e W § gET W Crime Headquarters located ?
e fomam 2 (A) Meerut o (B) Lucknow
(A) i@ (B) T ~ (C) Prayagraj %” (D) Kanpur
(C) TETE (D) - I T 45. SMgEAHmAEL 0
Which of the following state’s block | (A) TR farsht & &#
secured the second position in the first (B) TR TaT : ﬁ
delta rankings of Aspirational Blocks | i ‘QGTW -
Programme (ABP) announced by NITI C€) FHW :
Aayog ? (D) qmaﬁtﬁﬁfﬂ
(A) Haryana (B) Telangana GST;?@“F’IS for . _
(C) Maharashtra (D) Uttar Pradesh (A) govemmenf gale§ Ta’i‘(ax
. for =t (B) ' ‘Government Service
e B8 %Haéqé‘ﬁ i i (C) Gbods and Services Tax
o w:m & Wﬁﬁ ag %T%T (D) Goods and Sales Tax ,
(A) IR U 6. syt Y wa e weieed § wm
(B) FfRFATM - forn, st % g e & 52546
(C) ATHIA TFFTYT S HAT T HRIE T |
(D) 3 A) TYT (B)
Which of the following is the name of (4) D %ﬁf;%m
the operation launched by India to (©) i,l g .. (D) o3 N
evacuate Indian nationals from Russia- The Prime Minister participated in Sant
Ukraine conflict zone ? Mirabai Janmots}?v,_ a program to
(A) Operation Rakshan celebrate the 525" birth anniversary of
(B) - Operation Ganga Sant Mirabai in -
(C) Operation Ashvgvagandha -t (A) Mathura (B) Kurki
(D) Operation Suja o .G (C) Dwarka (D) Rlshl.kesh.
GL_4 PIRIATIY L PAS pELL ATV, A et Ay g .-..,,.'\.;.-....-....,,._n-_-s.~..,-‘,l CAMPIAD NTEYR SN ACNT S T VA SRS UL THVR MO POTTA TV AN e A
Gellarsy 28 Ullire
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47, Profen 4o R o o 2

(A) S®iH (B) eI

(C) wfiem (D) et

Which of the following is the capital of
Philippines ? |

(A) Bangkok (B) - Kuala Lumpur

(C) Manila - (D) Jakarta
48. YA ‘U wwar Rew” fvw atE )
AT 141 2 2 _
(A) 26 5Tl (B) 31 A
(C) 149a (D) 2 3R

The “Rashtriya Ekta Diwas” celebrated
-on which date in India ?

(A) 26" January (B) 31% October
(C) 14" November- (D) 2" QOctober

1. Prefifen § ¥ R g dew R

“IYRITH THIE” o A9 & T ST 8 2
L (A) BREw T =
(B) HEAd agéél
(©) i frmdt e
‘(D) %t g
Which of the following famous author is
known as “Upanyas Samrat” ?
(A) Harivansh Rai Bachchan
(B) Makhanlal Chaturvedi
(C) Suryakant Tripathi ‘Nirala’
(D) Munshi Premchand

50. & & H, Fom SR g Y e dw @

Heiftrd A GG @ T [EHR 2023
Sftar 2 | |

(A) fsrere (B) sfiien

(C) dRerh (D) Fwt
Recently, Chirag Chandrashekhar Shetty

‘won. Major Dhyan Chand Khel Ratna

Award 2023 belongs to which sport ?
(A) Cricket (B) Badminton
(C) Archery (D) Wrestling

NP IVEANTIVE STANITLATIVC SANPICTATIFR SONMTVTA TV SAAPOVL AT Va - g oA

9

-/

S1.

52,

53.

54.

. (A) ST

(C) New Delhi

IVR P INPINTATIVa

R 3 FH AT F R AR 9
(A) fom (B) Y9
(C) onfe (D) ferrm

What is the name of the lander of
Chandrayaan 3 ?

(A) Vigyaan (B) Pragyaan

(C) Aditya (D) Vikram
B 4, T 3§ PreafiRea o & fra wm
W Rd, YRa % 9ol 93 aier 3R wegi
3% [ICC (Ifr) =51 3geme a2 2

(B) wligame

© Wil (D) wEme
Recently, The Prime Minister inaugurated
India’s largest convention and exhibition

centre IICC (Yashobhoomi) is located at
which of the following places ?

(A) Varanasi (B) Faridabad

(D) Chandigarh
Frafifea 3 @ 39 @1 wra o qfm =
T AR ?

(&) gt gfem e s

(B) - TR Ik

(C) u=sht

(D) TR I

Which of the following is the highest

.. honour for Police in India ?
~(A) President’s Police Gallantry Award

(B) Mahavir Chakra
(C) Padma Shri

(D) Param Vir Chakra
g e Yo § ve AR FaE,

3. & A0 @ THE1 ST AT, HT T TEABT
& feam |

(A) ¥ B) fam

(C) 3Mge (D) s

In the social media network -formerly
known as Facebook, Inc. was renamed to

(A) Meta
(C) Orkut

(B) Bing!
(D) Twitter

BOLIN TEVA A PITTATI VRGNS s T N -

GL-4

SOAPINTATI . R
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60.

61.

62.

63.

64.

65.

66.

AANPSUTNTIVL 0 P ZATI VL AN pov T a™e ¥y o2 uvs

GL-4
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' 'W'mmmmmm%?

(A) ™A (B) €I

(C) 9 (D) diaeT
g’ fefafea | g fra g &1
wafgarst  ? o

(A) mft (B) fa=

©) Wt (D) &I

Feh e o W A A gg wW E I
eI 3 T O g B AR 2

(A) it (B) FTged

(C) Fgurd (D) T

g faeeg # vreg gfaaw fmmis 1 @@
FY-ugAE 2 2

freffaa 3 & e T ya: gEm g € 2
¢A) TR FAW (B) - Hed H AW
() wwaliHam (D) fafeai % am
frafefaa # & frg wreg F1 AT THaA
AR ?

(A) TR (B) UH-F9

(C) T (D)
‘mﬂﬁw@@’él'%@iﬁmmﬁﬁq
TFF S ? _

(A) ITHUHRS (B) FIGH HRH
(C) FdiHRE (D) HYFH
TR T A BT TTAR ?

Aa @B ()T (D) ;N
‘Tee’ g # g veg 3 wegg f 1 |
HAATR?

"(A)y WE+< (B) WU+ ATEL

©) atr+azﬁaa:([D) az+%3naz
1 A qIEER?
(Mm (B) 3r=3diva q9®
(C) gawv™ (D) qcqey ™

A’ T T F9 FA3T
(A) @ (B)«&d (C) =3 (D)@

67.

68.

69.

70.

71.

72.

73.

74.

79

76.

77:

PLTNTIVA AN

10

Iz v 1 G- fasde TR 2
A) T+l (B) W+
C FN+E (D) H+H
freferRaa § @ o a1 faaw faga @ 2
@A : @B : ©' @D«
frefafas § @ o9 @ favmw g@n =

AT R ?

(A) e (B) &H

(€) @@ FTg (D)

et Prfemd € 7 @ A 4 BN @
fira 2 2 :

(A) ol B (B) wgW BRI
(C) et fFar (D) g fRan
st TR T ™ @ € |7 T8 I fe
FTARIR?

(A) @feoyu IS

(B) dH

(C) arqul (%ﬁ;maéﬂmﬁ

(D) W
‘Tl g 93 FTE T |” W A

aT=a 741 &1 2

(A) FHAFETE (B) HgarA

(C) FHHaT=A (D) WEar=A
‘foas T qETR 1 e Frafafea & |
FHATR?

(A) ¥ M (B) = I

(C) S @A (D) I BISAA
“fg" wreg 1 faei wreg AT R 2

(A) AR (B) 3FIH

) fam (D) @ad
frefafas fases @ 4 & A 2,
Igeh! 9949 Hifa

(A) TR € 9 =@ TE

(B) @ g

(C) 3ITIH %19/

(D) agdel! g

& arfer ° aTeaew W@ @t e 3
FRe=EEE?

(A)9 (B)13 (C) 10 (D) 11
frafafgs 4 @ devems gdam &

ICE BT AT R 7
(&) e (B) @&
©) aﬂ‘m‘- (D)

Va AN eI AT VoA e L a TV

A
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‘et -
T BN W aeHR R 0

(A) 39 B) R
(C) = (D§ TeE
T IR B el v e feew i
TE R 9

A @) @ (C) R D) ¥

78.

79.

80,
“(A) - (B)
() W (D) gfufifermr
frafefen T B e ® T $ I
QAT : (1. 4. 81-85)

© fiftra R & W wW@ E - FEF W I o

81. ‘Hrvumeh # wrgRiar 1 awed 2 |
(A) Wgzmgﬁgwm
ave (B) - %hm. ug: | |

A S i
(D), ®M SN F & H a7 =rerrehy
T HTehl 1 1 T} afa & o & ot
| WER R, AR | |
(A) SHI % S Y o I Te-3a7
FHRAC | ' .
(B) W 3793 W HI AT AR |
(C) - TTeft 39+ % H Fuwr F *,
Torg wfva foems s |
(D) AR 3TY HTH B HIeTdT A H: |
0 v Bifew |
' (A), wHfsT Y ufgmn (B) @ Y i
©€) ¥u-f= . (D) ®R-¥g

82.

83,

CONPIUINTIVE CON VICLATIVL FAN PRCTN TV CONINTATIVE CTNPIVTNTI VR PON POCTNTETR T PITINTEVA &

alaxyiS23 1 ltra

T ET MA@ 1™ 4 NF |

T IR AT BT R w A R T

85,
e e A 7w o @t @ e S |

- {90.

11

34,

86.

870 ’

88.

89.

91.

92.

TS TR TN | ,

e Sfem o & o Wt & e & S

IERER ek TC e o

(A) & e o g9 W@ <t @ e &
NI TR FIm R E |

(B) <fe Shew of g9 3t @it & e
g affmysnSamea €|

(€) e e o &9 faft yor & =
F T AR e §

(D) ek Site # 7w W oF ot @
ILEERASRERER ek ot 3
Vg W 3 fre Tt g wm AT 0
(A) dmT= (B) UG =T
(C) T (D) Tt
FETR Fi % wiy FefRea ¥ 3 = E
(A) T (B) WM
©) (D) wWE™

ot R = Rem P i Ry @

e
(A) AT (B) it

(C) wrTeft 39yw (D) T
“F’ 3k T 77 e fr-Rr 3

ITEE 2
(A Ot (B) ®HI=
(C) dvRAWEE® (D) SeEEH
A’ veg 1 w@EEE A i AR A g 2
A TR (B) sig
(C) Ty (D) e

P’ s = =1 a9
E&gﬁ?ﬁu%ﬁaﬁqm%?

- (A) Yaa-femm (B) sw-fem

(C) w-Mawt (D) FFm-=w
“ehehY TETT W 1ol SRATY I &
o1 Tk weg 1 =T IR |
(A) T (B) =
(C) wrem . (D) I
THE & EWRATHH § 2
(A) iR (B) WMUIWE
€) SR (D) gewieE
DA PECTATIF R @00 BOULA VR AN PITA TR AN “EE:Z
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a—

WiﬁﬁﬂQ: X

Simplify ' 108 + 36 x > + 2 x+
475%%

(A) 6/5 (B) 17/20

(©) 45 (D) 15/21

T T AT

5,061 +3.98 +0.7034 + 7.6 +0.3 + 2

Evaluate :

5.061 +3.98 +0.7034 + 7.6 + 0.3 + 2
(A) 19.6440 - (B) 19.6467
(C) 19.6444 (D) 19.6476

T B T S T QU o @ SR wenadi
4,10 R 12 F QI & fawrsar 2 -

W

108+36x"%+

. The least number which is a perfect

96.

97.

C(A) 40%

98,

square and is divisible by each of the

numbers 4, 10 and 12 is :
(A) 2500 (B) 900
(C) 1600 (D) 400

Qe 3:5 % A A § | af e A

6 g1 fear 9w, d 98 =€ 9:17 *
T 3 8 et € | B wE @ |
Two numbers are in the ratio of 3:5. If

6 is subtracted from each, the new
numbers are in the ratio 9: 17 The

smaller number is
(A) 20 (B) 40 ©) 24 (D) 12 -

afe A, B 7T 250% 2, @ B, (A+B)Eb'r
TepaT ufcwa 8 2 :

If A is 250% of B, then B is what percent
of(A+B)?

4 )
(B) 287 7' %

(©) 66%% (D) 33%% _
TE 323 4§ L
(A) HIE FUT HES Ta1

(B) ¥R 3IUHEE

© 'C'{T W'{IUH'@@

(D) F IV UES

The number 323 has

(A) No prime factors

~(B) Four prime factors

(C) Two prime factors _
(D) Three prxme factors (3

VYA NEN PN NP R SN

PONPIICNTIVE 50N 9 VELS ATFVR SN 9

"~ GL-4

v,

I NTSVeE

12 .

100.

101.

FANVEIL ATV @

fafie aftt dm F A= ¥ 1301 T
iR, wifes 7 3l % a1 ffeT = Tfin, 9

¥ e Ay <) TR S TR B, B 4% gy
¢ &) = & gara S & | fif g

e a8 2 |
Divide ¥ 1301 between Mihir and
Diptesh, so that the amount of Mihir

“after 7 years is equal to the amount of

Diptesh after 9 years, the interest being
compounded at 4% per annum. What is

part of Mihir ? .;'_,,
(A) R 676 B) 620&

(C) %653 (D) %616

P, femrer 3R fommg amEertt & it
g & | e, fame & fEw & 3
217 et T @ R feme, o= g
fRmRfRus 3 farsag I TWF

| sia &, afha @ 2 5,500 % | F
feear fepaT 2 2

" Abhishek, Bimal and Chinmay enter into

partnership. Abhishek invests 3 times as
much as Bimal invests and Bimal invests
2/3 of what Chinmay invests. At the

| ‘end of the year, the profit earned is

% 5,500. What is the share of Chinmay ?

(A) 2,500 (B) 31,500
© 1, 000 (D) ¥ 3,000
T T T g T 25% S AN W S=d0

2 | afe 39 ™ 20% HH W G g IR
T T 12.60 FHH T o= BT, a1 38 30% H
ST BT | g T 5 oA I <hitd |

A man sells an arficle at a profit of 25%.

If he had bought it at 20% less and sold it
“for T 12.60 less, he would have gained

30%. Find the cost price of the article.
(A) 360 (B)T50 (C)T55 (D)T45
naps \-_.’\ =YY O :A. =5 Va U PIATA TR k\w_-\;x.-nA.
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00 % o1 wh wm & |y, 4, 10 A111
flﬁ:;:lﬁxésﬁ:ﬁﬁwﬁ ) ﬁmggﬁa:;;%ﬁn%f@ammw
o 7 aﬁi@ﬁﬁmﬁm‘?' Py a5 it i & 1 st
T 5 e i ‘LU 'Zlmﬁq ﬁ:ﬁﬁfﬁ ﬁréauﬁzanﬂzﬁ

: . Nos. 10 . :
‘g?::eanofal\:/d Ehyam undertake to do a z?nswer the 7utc%tilolr}s': s b
i vor for ¥ 80.0. Mohan alone Number of candidates appeared and qualified
oo e 6 days while Shyam alone |IN 8 competitive examination from different
% can do it in § days. With the help of states over the years are mentioned in the table.

Ramesh, they finish it in 3 days. Find the TS / State T4/ Year
share of Shyam, 2001 2002
(A) 375 (B) 300 IR/ | i/ | IR/ | e/
(C] 7325 (D) %250 < A;)& Qual. | App. | Qual
0 700 8300 960
103. 15,20,25, .......,135 % &= feat 1g 3 9 B 7500 1 850 | 9200 1000
EeuAiRitemms C 6200 | 750 | 8600 | 1000
e Sy 1a3r; ;here between D 8000 | 960 | 9600 | 1250
(A’) 56 3y eeenes s (B) 54 E 7500 860 7700 950
(C) 25 D) 23 =g / 9/ Year
‘ i State 2003 2004 2005
..\ . 104. @mm%mm%mwﬁ o / | 3t/ | iR/ |3t/ | 3R/ | ot/
L o - ¢ App. | Qual. | App. [Qual | App. | Qual
: 1 T2 : 3 & | T 1 8% 600 m? A | 7200[_900] _7000] 800] 9800] 1100
/ R | SIS 1 iR | B_| 8400] 950 9500] 950| 8600] 1000
: & Tt et £ B C 7600| 860| 8550| 1000| 9700| 1200
\ lawn 1s n the form o rectangle having its D 8600] 1000/ 9800| 1210 8900| 1000
_51des in t}1e ratio 2 : 3. The area of the lawn E 9600[ 1300[ 7600 940] 7980| 880
is 600 m". Find the breadth of the lawn. 107. feuw v ol % R U9 D F Uiy gF
(é) ng B) 20m = | TS IEEaR] 1 Jaa =1 2 2
‘ © . (D) 10m What is the average of candidates who
105. T HEfha aTats 900 Hiex it @ 2 e appeared from state D %u)rin%%%given years ?
5 Rl e - A) 9010 (
0¥ ATER | A | () g8 (D) SO
Tepeft/ere & mifa fopaft 2 2 108. 2003 T @t g T H IuEAQ I
A cyclist covers a distance of 900 m in ?ﬁ Fo T . Eﬁ:uammm ‘,ﬁ ¥
2 min 30 sec. What is the speed in km/hr HEAT 1 AT g2
fth list 2 The approximate percentage of total
ot tnhe cyclist : number of qualified candidates to the
(A) . 8.7 . (B) 21.6 total number of appeared candidates
(C) 18.6 (D) 1.67 among all the five states in 2003 is
L. - < 0 0 0
106. 7 FEma # & gE, veeh A EA R otk | (W18% (B)13% (O 1% () S
5 3 R TR 2 | R A gt @ |10 2001 & T+t T4 § ST L
- T & | 3G A1 HEH1 TE, 2002 H qyft Tt & Il IE{EERI
3rErd 66 2, <l TEd B HEA A it | <1 et T T ST feheT o @ 2

Total number of candidates qualified

nd is twice the : A
Of the three numbers, second | from all the states in 2001 1s

first and is also thri;:e the thfrd. If the approximately what percentage of the
average of the three numbers is St total number of candidates qualified from
: the smallest number. all the states together in 2002 ?
| L A)24° (B) 54 (©) 72 (D) 36 (A) 82% (B) 76% (C) 80% (D) 71%
e | 3.0, e AN VIRL ATV PP KT A TV R FAN PN ST o P ATIVE AR MOVTNTIVR AN AP AL A THY SR i S Ve O & At
alaxy, @?@{fﬂ bl 13 GL-4

—
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R e et % § forg o # w59 € @/ I9R
B 9 Iefieand #i wEn # Il
Iefigamt 1 e arfreran & 2

In which of the given years the number
of candidates appeared from state C has
maximum percentage * of qualified
candidates ?

(A) 2005 (B) 2003

(C). 2004 (D) 2001

ol =6} % I T B A_JR Y T

- gefieaRi A ge , e el F T B &

- 113,

~ who can spe

113.

PENPEULNTEIVR PON VEVLATEVR O\ PICINTIVA OTN

GL-4

- wadmmiai o madAed, d

"cA> .(B)OOOA

‘m’.'.‘a":sv'-é EONPOVIATIFE CONPIVENTEVR OON PITTN TV CON PICTA TISVR Q0N POCTA T VA QNN PRCTA TIVR AN BTN T VR

N

1A wferarer fe & 2
What is the approximate percentage of
candidates qualified from state B for all
the years together, over the candidates
appeared from state B during all the
years together ? -
(A).16% (B) 11% (C) 13% (D) 8%

TR T 7T HE T IT NN ] qE=™

H A HH Y FA 9T e g § |

Study the di:ﬁram and identify the people
at least two languages.

37t / English

ot v Wﬁ / German

8 Koo B 51218
IR - F AW, + F AT NG, o

18x36-6+2+3="7
If ‘=’ stands for division, ‘4’ stands for

- multiplication, ‘+’ stands for subtraction

and ‘x’ stands for addition, then"
18x36-6+2+3=7" .

Ay 122 B)18 (C)8&8 (D) 3
g 97 IN@ T o i & g ey W

Sl

CEoo"se, the Venn diagram which best
. explains relationship among the given : - -

‘Human beings, Rats, Doctors

© @ (D)

118.

116.

1117
. S R ¢

118.

: R 14

b

Preffaa v #, o W R mn R,
Fu% ag W e iy e &, R & feg g
TeE & e T ITANT FH T WG AT

1 FehaT § | Y Weg I HI |

In the following question, one word is
given, followed by four words, one of
which can be formed using the letters of
the given word. Find that word.
DETERMINATION

(A) TERMINATED

(B) "DECLARATION

(C) DEVIATION

(D) NATIONAL

e T W w1 Ty @ T A e
et T T AT ®9 A T I W T
HT 7

Which one set of letters ‘when
sequentially placed at the gaps in'the
given letter series shall complete it ?

P RSQ RP_QR_QS_PP.RS . . -
(A) QSPSRQ (B) ' QSSPRQ
(C) QSRSPQ (D) QSPQRQ ™

fw e frredt # & vg T R g @

Choose the correct alternative from given
ones that will complete the series: -
98, 81, 64,47,30,(?) -

(A) 17 (B) 13 (C) 15 (D) 11" :

=R Rywedt § ¥ § 7 sl (X) A T
T B g |
Choose the correct mirror image of the
given figure (X) from amongst the four

alternatives. . '

' ‘ @) <’O @)
242 1020%
X) m @ & @
A B © 6 DM
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BGEK :AGDJ : : DBH] : (9
(A) CAGH '

(), GacH (B) ECI
ﬁw%mmﬁﬁaﬁﬁgﬁ ?
How many tr

ia :
following figure r?‘gles are there in the

(A) 23 (B) 21 (©) 22 (D) 20

@Wﬁﬁgtév%wﬁaﬁté%ﬁm
2, 5 ot e & ok 11 R e 2,
FRL o e R ok 12 ferht e 2, R
T TEA R 3R 12 Feeft =remen @, Rt
TS & 3R 6 et e & | 7= ==hn 3

- WAfTFR @ wR

< (A)
1 (€). 12 km

122.

()

- A person moves from home position

1 fedfy
12 fomedft |

(A) ‘(B) 23 f&dt

(D) 17 Tt

toward§ Wwest by 6 km, then turns right
and moves by 11 km, again turns right
and moves by 12 km, again turns right
and moves ‘by: 12 km, again turns right
and moves by 6 km. How. far that person
is from home position ? * :

1 km -,

<. (B) n~23km LS
D) 17km

i tamis
Az SR

A= T s e e g e

7, 395 9 fomen & W =R -

few 2 | v 5 I AT %ﬁwﬂ
B, g

(A) q%ssﬁaq (B)UW:W
(C) 3 el '

mim@ : (r

I

In the -below given question, a:pair of
‘words is given, followed by four pairs of
words ‘as alternatives. You are required

- to choose the pair in which the words

have the same relationship.
Gland : Enzyme-
(A) Brain : Cortex

- (B) Generator : Current

(C) Organ :Kidney
(D) Muscle : Spasm

(D) mﬁaﬁia—:r

)

- (B)
- (©)

123, = feu 1oy § us wue 3t g e |

I, 111 3% 1V waifea =R ad miet § |
AT T8 qF H B R B |r/A Tk
U e L
a3 g
ferepeatt & & aroe IO |
HYF : 1 14 T8 H Y 7 & off 7=
?*%Qﬁmeaﬁaﬁmawm?
I. 'ﬁlmwaﬁémmﬁ
AT ! TeH FH H qee fyendt |
I & | a8 Juut SEe 5 Rl 5
T Tk T qlhT R | '
TE | BAR U IO A w1 i
w0 % fou Tata gfer gt =
B | 358 Sftem w d 9ig vty
et 11 3RV Toega € |

Fae 11 Tgh 2 |

Fad [ R TG B |

(D) FaaIVHATEA 2 |

Question given below consists of a
statement, followed by four arguments

III.

Iv.
(A)

numbered I, II, III and IV. You have to

decide which of the arguments is/are
‘strong’ argument(s) and which is/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives

- given below the question.
.'Statement : Should education be made
-~ compulsory for all children upto the age

of 14 years ?

Arguments :

L Yes. This will help to eradicate the
system of forced employment of
these children. '

II.  Yes. This is an effective way to make
the entire population educated.

III. No. We do not have adequate
_infrastructure to educate the entire

population.

IV. Yes. This would increase the
standard of living.

(A) OnlyII and IV are strong.

(B) Only II is strong.

C) Only I and II are strong.

(D) Only IVis strong.

POINPIUINTEVL FONVICIATIVE PO PITLNTIV R OO WA TIVE CON POVINTI Ve (MONPAOUIN TV CONPIULNTIVR QAN POTTATIVY R S0 I ATV R MONPIUTA TV R SN JUE ATV

A

15

GL-4
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124, R w5 § 0 e iR Iwk A | ey af snweli e Ieafed AEQUS B
1 311 shmifed Q) uromd @ g € | o | @A e, R
FuA 3R Fefafea wwons w R (L IqU (a) H, Ty Sifm Aot H Than
T § i ém%%_g% @ ch el Eobr kRt Qi
YT (V) YA mﬁﬁ%ﬁ 2| IdH 65% A FTH ’
W%q;mgmgmi4a; ngimﬁ%%m
E1I ™ STT Hebell
aw%-‘mq%-w%@mﬁ%m Il IR (@), g 7 8 7 2 25000 T
EEFiicr kRl éﬁaﬁéﬂw%aﬁw@wm oy
;Imrflm SR W%T%fqﬁm%m%l

SN RS fraferiaa v #, anadfl &

(A) FRIARAA 11 3@l R | mm s(mﬁ (gﬁamm) a;ua;wi W
(B) et YRV 11 STafHfed @ | /) R @ Fr O ¥ | S
(C) 13N 11 3Hi sfafifea & | frfefad weis 99 1 ved ¥ ST
(D) mmlmﬁ%aél A 3R T o ff 7 T ? | 78 ot 7
In the question below a statement (frea) a9 | 18, 2006 H aii@ WM E |

followed by two assumptions numbered I Q. Nos. 125 to 129 : Study the following
and I1 is given. You have to consider the |i ¢, mation carefully and answer the questions
statement and the following assumptions |oiven below :

and decide which. of the assumption(s) Eollowing are the qualifications for post in a
is/are implicit in the statcment. reputed company.

Statement : “Do not enter — avoid the |The candidate must-

risk of ‘getting infected with the ABC (a) bean Eniineering graduate with at least
disease” — Written outside the quarantine 60% marks.

ward no. 4 (meant only for ABC disease) (b) be not less than 21 years and not more
of a hospital. : than 25 years of age as on 1* May 2006.

Assumptions : (c) have passed the selection test with at

I.  Discase “ABC” is contagious. least 55% marks. .

II.  All the patients in ward no. 4 suffer (d) be willing to pay a deposit of ¥ 50,000,
to be refunded on completion of training.

from disease ABC. However, if a candidate tulfills the above

, (A) Neither I nor Il is implicit. : P )
(B) Only assumption Il is implicit. mcEtno?\eztd(;)rgggsé egste ﬁ;s.appeared for the last
(C) Bothland Il are implicit. semester examination and has obtained
(D) Only assumption I is implicit. an aggregate of minimum 65% marks in
T. 4. 1253 129: ArefeRad m H7 m—,—_pfjg ﬁrtgt se(xj/en s}?m;,stegs, his/l'let;'1 case may be
3T T e A o T e & IR AT M1 okt G above. bt it willing.(6 Tay ar
et ftfir et 3 wg o fore Fraforfem ardard 2 | amount_of at least ¥ 25,000 and has
i &t - obtained at least 70% marks at Engineering
(a) T ¥ FH 60% 3ih] & qrY Seffaaia degree, the case may be referred to the
T B =R | ; nge;a]}‘M?nl?ger of the comparclly.
ach of the following questions, details of
(b) 1 T, 2006 B H7 ¥ FH 21 T8 3R | (he candidate are g i
) given as regards his/her
tfiremam 25 Hﬁf‘qﬂ@m?{ﬁq I candidature. You have to read the information
(c) FH 8 FH 55% 3Th] & T1Y 99 qlar provided and decide his/her status based on the
it 2 = | , cond_:(tiloéw \%wen above and the information
provided. You are not to assume anythin
(d) ;3_?’000 ﬁm g T T 1 AT other than the information provided in ez)l’c‘:}l: ogf
=T, 201 o IT I the following questions. All these cases are
-'ﬁﬁ IQ’.H_I " given to you as on 1% May, 2006.
GM - ~ 1_6 o< - A\ = = - A = oo \»n,s.fx
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=T e H 66% 37
F TIH T 50,000
TR |

T o § offt S
TR 67 T 0 %

(A) Fht Mgz =Y Sro s |

(B) = 7 fora e |

(C) RIS =Y S ST |

(D) =¥ fohan e |

Diptesh has appeared for the Ilast
semester of engineering degree exam and

. 1

- 1s hoping to score at least 80%. His

1t aggregate

_ Score upto first seven
semesters is 75%. He has just completed

21 years of age. He has scored 66%

.~ marks in the selection test and is ready to
. pay an amount of ¥ 50,000 as deposit.

(A) To bereferred to Company President.

(B)' Not'to be selected.

(C) To be referred to General Manager.

. (D) Tobe selected.
126. TTE 68 |
o A AR R | Shfvaf A Raft et

. W % 9IG 3 BreTE & sy & Ty

REL S

i) v dete ot
i (B) = e fopam mam |

Lye,
PE RE
P

T 68% T % T 2003 F e T

T 61 R | 38 60% 3iehi & @ =

e St ¥ 1 9% 50,000 S

.

el SRR, 19823
|Jﬂ'f"‘.i~"

- (C)  TETHEYE i €T | )

D) wmfEemn
5 Mahi is an IT engineer passed out in
~.2003 with 68% marks. After getting the

engineering degree, she has done MBA

. with specialization in Finance. She has

cleared the selection test with 60%
marks. She can pay the deposit of

- ¥.50,000. Her date of birth is 15%
- September, 1982.

(A) To be referred to Company President.

kg (B) Not to be selected. .

s’

Ui (C) To be referred to General Manager.

(D) To be selected.

127.

128..

gden # it gan & 3tk afomy i et
? | 387 IR TTq AN H @y # yom
goft giftret 6t I8 T € F 22 " A
W A R | IA T F w9 H T 50,000 FHY
aift 7§ Tl & YA FA F FE rEn
TE R | A 58% 3 F WY =T gl
SRR

(A) T IqaraR |

(B) UETYEYS ! WS ST |

(C) ot Mférde =i Ss e |

(D) == fomam wmam |

- Shyam has appeared for the last semester

examination of Mechanical Engineering
and the results are awaited, He secured
first class in each of the first seven
semesters. He has recently completed 22
years of age. He has no problem in
paying the required amount of ¥ 50,000

as deposit. He has passed the selection
test with 58% marks,

(A) Data inadequate.
(B) To be referred to General Manager.

(C)- To be referred to Company President.
(D) To be selected.

¥ Y 9@, 2005 ¥ 79% It ¥ =
Hipet FeET H faft ow Hit | 57
w1 wlan § wie g, ™R s 70%

- 37! & Ty It TR | SHY Sty 28

4, 1983 8 1 98 T 50,000 <7 Y Rufay

& ], AT 9 % ¥9 ¥ T 30,000 F

A i Sl STeT St |
(A) ST IR |
(B) =5 &l fohar smwm |

.. (C) RIS Y ST ST |
s (D) =& TR S |

Shreya has passed out Chemical
Engineering Degree in June, 2005 with
79% marks. She appeared for the
selection test which she cleared with
70% marks. Her date of birth is 28" June
1983. She is not in a position to pay
< 50,000 but will arrange to pay T 30,000
as deposit.

(A) Data inadequate.

(B)- Not to be selected.

(C) To be referred to General Manager.
(D) To be selected.
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' 2, frm 2003
frera o geifageRet FoltfE e

¥ 21 o 1 3w & areet feft wdem
£ | 3 Rt v F 76% i IR T
e i 72 37 ST R | T8 STk ¥

3 7 50,000 36t TR BT YT T FEHA € |

(A) m&mﬁzﬁﬁmml
(B) = TEl fpan Sm@T |

(C) WEIIEYe I Wil ST |

(D) =& fepan @ | '

Nilay is an’ Electrical Engineer, who
passed out his degree exam in 2003 at
the age of 21 years. He obtained 76%
marks at degree exam and 72% marks in

the selection test. He can pay the amount

of T 50,000 as deposit, .
(A) To be referred to Company President

" (B) Not to be selected

(C) To be referred to General Manager
(D) To be selected ;

130, 319 TH qRTE SRR % w9 @ E;
e Safrq Tt 3779 UTE 7T @ 3R HEAT

- 2 fp SqY 23 T 9 AU T &

a2 | g B B P S

m,m: ’
(A) Troer % fore Rrepraa =t o a1 %
- qTE WS 91T | .

®) R w8 @ R o |

T got 1 99 HET A1RT
(C) Teuita Sl HHAH & Y F FREAR
~ FHETEIRT | . :
(D) * IS HT WTHAT G Hleh AT B
1T | - '
You are stationed as a police officer; a

distressed father approaches you saying
his 23 year old daughter has eloped with

“her boyfriend. As per Supreme  Court

directives, you should : :
(A) refer complaint to village council
- for settlement. ,

(B) support reconciliation

.-~ criminal charge if consensual.

(C) arrest the boyfriend on charges of
enticement.

(D) file a
investigate.

without '

kidnépping case and

132.

(D)

N I AR A () §
T % foTq wemg ¢t =nTfe |

TEITE 1 GATd &1 iR | ,_
NS I G HR () IR Gl
STTETTH Y& T ST |

You are stationed as a police officer;
you receive intelligence of an inter-
religious couple facing harassment

(D)

" threats from fringe outfits. You should :

refer them to protection officers

as per procedures. ‘
counsel the couple to avoid public

interactions.
suggest their voluntary physical

separation. ;
provide - security cover and safe

transit for the couple.

(A)
(B)
(©)
(D)

39w gl et & w9

YEU % Gy da7 fEg B e Il
sfis Tl 3 HEES Yad §E HH H
qmehl €1 R | TR ¢ wrs

(A) Y g HRAE & Q. AR

| .'('1;)" quERE! % o9 fyag Y 41

% HErEEr S I |
(C)- TEwqul gFHTEl el i TG
¥ gl Y SeiqEe UehAT =T |

(D) @R @ gufedl % fw afeEm

 Yarait @ qid FIReR ST =17 |
You are stationed as a police officer;
agitated labour unions threaten to stop
essential services over wage disputes

with management. You should :
(A) impose fines and charges for

illegal strike action.
(B) assist dispute resolution dialogue

between stakeholders. :
(C) forcibly stop attempts to blo
critical infrastructure. 8 = -
arrest union leaders immediate

for disruption threats.’ '
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You inherited . investigation into
corporate fraud by an industrialist who
then offers a personal seftlement and
closure help. You should :
secretly accept settlement while
declaring case closed o
commit to investigate ‘the fraud
. fully and impartially
avoid examining
witnesses or records

(B)

(B)
(©)
®)

any further

+evidences under legal scrutiny

o T i e % w9 i A

T T H ST gea el

_'-'"(,A_) ECICRIIECT
@) Ut e s g |
o8 o

T ek % W @
ST Y& %l e HET = |

FHTHT =R |

- © AT TEIH ST ITAN

A 1 2T JIEA (@
ST AR | - ‘

. (D) Tws sy s o wnft

<t & qodTes S =R |

.~ You are stationed as a police officer; to
. solve a series of undetected homicides in

- (B)

D)
'@2@‘@%[%_%]“ AN PIRTNTIT R S

your jurisdiction, you should :

(A) study behavioural patterns through
psychological profiling
complete DNA profiling of entire
regional population ,

data mine CCTV cameras using
facial recognition scans

question all existing convicts
with violent crime history

©

ST

_partly deviate from incriminating -

WLATEY R AN PEVINTIVE FOANPILLN TEVR DA PIULNTWVYN S0 0 L
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(A) TFTGU &t Af=a1 & FHR F
Tfgu 3R See & T BIE W
99 3T 6 Iufie HET =0T |
TITHTAT0T %1 3794 HiE &+ fawm &
e 5 & w9 U Wier FE 916
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HET 1T |
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& T HEAT TR FET 39 T
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3R a1 g o1 JMe |

You are a sub-inspector in a rural police
station. You have been working in the
same station for the past five years and
have developed a good rapport with the
local people and the administration.
However, due to a reshuffle, you are
transferred to an urban police station

(D)

* where you have to deal with a different

set of problems and people. You feel that
this is a difficult and stressful change.
You should :

(A) accept the transfer reluctantly and
hope to get back to the rural station
soon.

accept the transfer as a part of your
career growth and prepare yourself
for the urban challenges.

seek a transfer to another rural
station where you can continue
your work and interests.

request for a cancellation of the
transfer and cite your performance
and achievements in the rural
station.
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X hiafage pd opérati on you lead enters As a police officer, certain religious

critical stage ‘z?gé‘ﬁ-‘{°§‘foﬁh;€o'ﬁ%etzs a life- , S‘r’g;gr'?ys ri ?1?5 ,fcfra Eygiiow%‘;c{:yé;ilforc% ug}

Ureatening S¢CLGE altocate. areas of | (R0 dismics cases sutright if norms

5 operational responsibility among v have been long accepted in the

%é - B Eﬁ%ﬁ’.‘&?‘ggﬁ“g,}g accomplished (B) ?ggym Léglstgs dt(l) fast track courts
‘t‘ﬁ' 4 (C) gg%%%al personal news until - 4(E) ?ugnén cli?;?r%cteasv};sr.eness campaigns
e i opef:::ltrilci)ln resolved before focusing | drive on gender ri ghts.d_ unf
B D) grr:u'ust .)c’feputy with operational (D) cite  laws superseding uniair

v * traditional customs.
139, T qfer AR % w1, FS STl
wﬂ%ﬁg Hedd STUH FEH- A R

strategy but refain authority.

137, T B = iR s s 6 i

A T, AR fE Ry FEE | AR LS
(A) T FuRe S qEd TR R A | (A) T -wg:ﬁ.-wﬁﬂﬁ%)ﬁ
mmmmﬁw%ﬁl 1 e % forg Frreft R SehTE
(B) . forelt +ft s fonfRm fofe fra- el
St w@ % U e | o (B): O S . A A
' g_mmmmﬁil | R mmiﬂﬁﬁwmmm
(€) % s frebem & forg A LA ’ e
@ R ¥ ¥ ISR B B AE) mﬁmﬁm*‘?wﬂ@ﬁ
b 2 gymmml ; T (wnfia)y w0 % fe wEeE 5 W
@ wamRm el Fayd | FEEEERLL
AR w R #feT Sa (D) qRYRE WIS B T F 6
s R | - R SR R W HREA T
When investigating identity - theft and T T11RE | T
impersonation crimes, you should ~ As a police officer, certain tribes
(A) analyze IT assets of suspects comg}ain of bem§, wrongly deemed
~ searched under warrants for tools. habitual offenders. You should :

(B) obtain court authority to reverse- (A) setup watchdog complaint cells to
" engineer any phishing kits retrieved. monitor forced confessions.
(C) Egrsonally call victims pretendin . (B) enforce diversity quotas employing
. knowledge to = extract ba officers from marginalized tribes.

' information. (C) table meetings with communities to
, (D) setup ethical hacking traps portraying realign engagement approaches.
© " as criminal buyers on dark web. (D) implement mass counselling

programs to reorient traditional beliefs.
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As a police officer, you are involved in a

-crimin.al investigation. Which of the
following is the name of the document

-that you have to submit to the court after

completing the investigation ?
(A) Bail Application ‘
(B) - Charge Sheet

(C) Arrest Warrant

(D) ' First Information Report

s S 7 9 1 e
e Frfres T T & 2

O ffe W efa o e §

 Fefert

sifefsran T | .
() et 3 e Pl
() Pt 3 fery g i AR

ﬁich aspect of community policing |

f)
resonates you most ?

: . ickly and
4 on dlng qu1c .
& Rf?cgently to ~ emergencie
‘ :e orted by the commumt)’;'t with
Building trust o ra}l))rl,ng-
®) esidents t prevent e 1 like
A adva ed techno e or
(©€) Using cameras
.~ drones
) ) . anc oq* and
Sur::;lslmg olice visibility
(D) {\I:ffo‘lst d ter crlm r.‘f'.‘wa“\':"T‘(

car NTS

oy ® s % R IR
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~( A) depute

SR (2) 3 S W 97w R wi |
T AR A (o)

(&) T B) WD.C,

(C) v (D) uy

Find suitable alternative in place of
question mark (?).

Russia : Moscow

:  Gueece s (D)
" (A) Tokyo (B) W.D.C.
(C©) London (D) Athens

& Yo At F w1 6, 3o @
TRate e et % fad,
TelEide il Ht FEm @ T
gl 3 e i |
(A) WHETRR S & i e e
ot Rt =t e wom =i |
(B) fom 1 gt 3 T Fgd o
o Frleroes R FT = |
() i frgid () # W
oy 3 o gt 3% (S0

directly engaging ¢

. ol ' 4 arr
" make preventive

(B) - fringe  clements

violence. .

table commlif“fz'us doctrines-
izing relig!

harmomzloialized qwareness
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Choose the correct alternative from the

given that will complete the series.

1000, 759, 618, 545, 514, (?)-

(A) 504 (B) 502

(C) 507 (D) 505

@ R e ww A, “ROMAN” %t
“IFDAE” % &9 & foren <iram @ | 3¢t e &
“WATER” ! & fera wmem 2 .
In a certain code language, “ROMAN? is
written as “IFDAE”.. How would
“WATER?” be written in that code ?

A) . AEBEI (B) EIBAE
EC)) IFAEB (D) EABEI

T S o & g Y 3R 10 frft wreman R,
2 2 e @ o 5 ot wman 8, R R

e e @ oK 11 et e 2, R and

- T ® 3R 5 fEh werm 2, R d wd

147,

31 8 3R 1 forft e & | g == o
WA R g me e -

(A) 6fwft . B) 16fmH
©) 2fedft (D) 15 foreft .
A person moves from home position
towards east by 10 km, then turns, right
and moves by 5 km, again turns right and
moves by 11 km, again turns right and

- moves by 5 km, again turns left and

moves by 1,km. How far that person is
from home position 9

(A) 6km™ . B) 16km
(© 2km (D) 15km
s 3 3 g e R |
"ﬁwaﬁ@ﬁwwmﬁmﬁﬁ |
'Maﬁéﬁwﬁ%m%l he .
@) =@ B) = .
- © = (D) ==

AN,

GL-4

Ir} following qQuestion, some words are
given. They have Some.common featyres
except the odd

one. You are required to
find the odd one out,

© St ®) ' Quay

“SOUVENIR” W % wgel, iR,
i :Zaaﬂxma@wmmﬁ
¥ Th R I fRAT 9T ) ot W@

fopet FTeg ST T Wohel & 2
(A) 3@afs  (B) 2
©) 3 (D) 1

ingful ‘English word has to be
gr;rerzleit;rr:g 1%, 3"’g, 5™ and 8" letters of
the word (each letter to be used once
only) “SOUVENIR”, then how many
such words can be formed ?

(A) morethan3 (B) 2
©) 3 D) 1

149, T gt QUET (noon) ¥ THY Y& Y A § |
5 a1t 20 e R, RAF TR N

A clock is started at noon. By 20 minutes

past 5, the hour hand has turned through
(A) 160° (B) 150°
(C)~ 155° (D) 145°

150, 319 =t &, 77 % veider T ok Ywr ¥ |
@, e H At R}, R s g

ma%,ﬁﬁ%mﬁmﬁ:ﬂ%%%ﬁm
3T e § | Tare s T Y I ) 35
AT N CE R H 3 7= § | forew e

ﬁa%aﬁawﬂm%?
(A) el ®B)
©) i (D) 3=Fa

Among her children, Ganga's favourites
are Ram and Rekha. Rekha is the mother
of Sharad, who is loved most by his
uncle Mithun. The head of the family is
Ram Lal, who is succeeded by his sons
Gopal and Mohan, Gopal and Ganga'

" have been married for 35 years and haye
3 children. How is Mithun related to
Mohan ? :

(A) Nephew (B)  Son

(D) Deck
ClL AT VITNTEVL Oy

"N L ——
ATV Sty FONPITTATI TR e

ENTSVR CoN Py CON P,

: (C) Brother (D) Uncle

ATV SO AT A Sy e
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